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(FE T ) (Bdsl 25)
(1) x*—2x?+1
(2) Rx+D(x—-v)

(3) 38

11
(4) x=-2, 3
(5) 7#7

(#RE ) (Bdai  25)

(1) wKRMEHRAMESFEL R,
(2) m=—4, n=-3

(3) (4, 0)

(4) & 3,-1)

(5) —x+2y=10

(F I ) (Bl 25)

(1) cost9=—‘/;, tang = — V7

(2) sin(—60°) = —\/73_’ cos(—60°) =% tan(—60°) = —/3
(3) o==2m
(4) o

7V65

7 o _ V6
(5) tanf =, sinf = -

(V] (Bl s 25)
(1) fl(x)=3x*—x—-1
(2) a=-4
(3) 2 cm

31
(4) 2

(5) 2
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(/& 1] (Bl 15)
n 7 2 A 3 = 4) v (6) =

(RIE ] (Bds 20)

(1)  price of tea rose by 100 yen early
(2)

3) It is impossible to know what will happen in the future.
(4)

felt something soft touch her leg in the

~~

He had to go to hospital every other week.

(FRE ) (Bl A5 20)
ZDOEIE,. EEEE LOFHEIZ I BV LEE A

(FHEEIV] (Bl 25)
(1) Z @ LED BERIIMOMITIEBEBR AL LT L LRV,

(2)  FAEFERE LS THIEHRBIISZIM L2 EBnET,

(3)  WNREo TWVBHINHENRKTOTZDIZENTWET,

(4) WO LB THIDITTIEEHY FHA, THTaryT v a izt 4,
(5)  ZFNIUIFHERELRBE AEOR (AR LTWD) B WE LT,

(RIEV (Bl 20)

)
ZOEYIE, E MR LA L0 B LEYA,
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(1)

(2)

(3)
m

([ 78

(1)

(2)
(3)

(FHI/&

(1)

(2) o=

1) (Bds 25)
I.IN

0.12N

1.2 m/s?

o) (Bds 25)
Wk A OFER) RS ma=T
Wik B OEB HFEAX : Ma=Mg-T

M 2
m+M g m/s]

mM
+M

g [N]

m]  (Eds 25)

IR AWNDOKIEDES] : 1.4X10°Pa
A WOKUKD KR : 0.50 m®
0.90 m*

5.4%102K

V] (EdA 25)

Vv
Il =— [A
La)LH

I =aCV [A]

[rad/s]

1
JLC

(3) 0V
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(MEI1)  (Bls 20)
(1) O (6) X
(2) X (7) O
(3) O (8) O
(4) X (9) X
(5) O (10) O
(FREI)  (Bds 20)
(1) 2Al+3H;SOs — Alx(SO.)s + 3 Hz
(2) 65¢
(3) 1.1g
(MEEm)  (Ads 30)
2803 kJ/mol

(MEEV]  (Bds 20)

(1) | O A (2) | @ TATE R
) E @ B VR
® C ®@ kv
@ B @ — b kR
® D ® bR
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